BT v — FIEERE R (2020 L)



B ORE
®© FEhERH: 202049 H15H (k) ~10H 16 H ()
@ WH: 201 84EE~20 1 9FEEEEEDMRBAES
@ [\% - BRI 18 6
@IRAEH - - - T, tEAT. EUT - D)L RIS oW T 14 o B R & E i

« T v — b IR

(1] 78
(1-1)] 25 2

[ [0 25 i S 4K & &
1. JEHICYClEE 2 14 7. 5%
2. HTiRE 3 61 32. 8%
3. PeYTIEED 69 37. 1%
4. HEoYTrE LN 32 17. 2%
5. ¥TiRrEILAW 8 4. 3%
6. LY TEFELARW 2 1. 1%

% &k 186 100. 0%
[1-2] HFEE2H 5

[T [ 5 i S5 & A
1. JEHICYCizE 2 24 12. 9%
2. HTirE 3 101 54. 3%
3. YU TETS 36 19. 3%
4, HEVHTEEL LW 13 7. 0%
5. ¥TiRELAW 8 4. 3%
6. < U TEFELRW 4 2. 2%

ol 186 100. 0%
(1-3] Wwmaatks» 2

[T [ 5 i S5 oG
1. JEHICYTizE 2 28 15. 0%
2. YBTizE 3 91 48. 9%
3. Y TIRES 32 17. 2%
4, HEVHTEEL LW 20 10. 8%




5. ¥TiRELAW 11 5. 9%
6. ELYTIEESLRW 4 2. 2%
o 186 100. 0%
(1-4] @825 5
[E] ] A ZEE &l A
1. JEFICYCTIEE S 20 10. 7%
2. Y¥TizE 3 83 44, 6%
3. YT S 58 31. 2%
4. HEOYTRELRW 15 8. 1%
5. YTiEE LA 7 3. 8%
6. &{YTIEELAL 3 1. 6%
% & 186 100. 0%
(2] AN
[2-1) 23a=r—>avinidh 3
[E] [0 25 i S 4L & &
1. JEHICYClEE 2 20 10. 7%
2. BTi3E 3 68 36. 6%
3. YT S 56 30. 1%
4. HEoY L0 29 15. 6%
5. ¥TikEo e 9 4. 8%
6. LY TEFELARW 4 2. 2%
&k 186 100. 0%
[2-2] = b L RiHEDRSH 2
[T [ 5 i S5 & A
1. JEHIcYCizE 10 5. 4%
2. HTiRE 3 65 34. 9%
3. Y TIFTS 72 38. 7%
4, HEVHTEEL LW 24 12. 9%
5. ¥TiRrEILAWw 7 3. 8%
6. LU TEFELRW 8 4. 3%
#w &F 186 100. 0%




[2-3) Zzdkik: - e 235 %

[E] [ 25 i S 4L &l &
1. JEHICYClEE 2 10 5. 4%
2. HTiRE 3 80 43. 0%
3. YT S 61 32. 8%
4. HEoY L0 22 11. 8%
5. ¥TiRrEILAW 8 4. 3%
6. &{YTRELAL 5 2. 7%

&k 186 100. 0%
(3] #11 - %0
(3-1] FmEEMEE R TE %

[T [ 5 i S5 & A
1. JEHICYCizE 2 14 7. 5%
2. HTiE 3 65 34. 9%
3. YU TETS 78 41. 9%
4, HEVHTEEL LW 138 9. 7%
5. ¥TiRELAW 7 3. 8%
6. U TEFELRW 4 2. 2%

o &F 186 100. 0%
[3-2) H#ENBHICOWT WD

[T [ 5 i 25 & A
1. JEHICYTizE 2 15 8. 0%
2. YBTizE B 72 38. 7%
3. YT 68 36. 6%
4, HEVHTEEL LW 20 10. 8%
5. YTiEE LA 6 3. 2%
6. ELYTIEESLRW 5 2. 7%

oS 186 100. 0%
[3-3] EMHEBHITDOWT 13

[E] e A ZE A &l A
1. JEFICYCTIEE S 13 7. 0%




2. HTiRE 3 6 3 33. 9%
3. YU TETS 74 39. 8%
4. HELYTEFEHEWL 23 12. 4%
5. ¥TiRrEILAW 9 4. 8%
6. LU TEFELRW 4 2. 1%
o &F 186 100. 0%
(3-4] fEEF IR OEKEZIIGFL T3
[T [m] B A ZEH & A
1. EHICY Tz 2 9 4. 8%
2. HTirE 3 34 18. 3%
3. YT 70 37. 6%
4, HEVHTEEL LW 4 4 23. 7%
5. ¥TiRELAW 15 8. 1%
6. LY TIEFELARN 14 7. 5%
o 186 100. 0%
(4] shalrE
(4-1] ALEN 2B 2
[E] ] A ZEE &l A
1. JEFICYCTIEE S 5 2. 7%
2. Y¥TizE3 43 23. 1%
3. U TET S 95 51. 1%
4. HEOYTRELRW 33 17. 7%
5. YTiEE LA 7 3. 8%
6. &{YTRELAL 3 1. 6%
% & 186 100. 0%
(4-2) fEtE25 2
[E] [F] 5 A ZE 5K & &
1. JEHICYClEE 2 23 12. 4%
2. BTi3Es 76 40. 9%
3. YT S 58 31. 2%
4. HEoYTrEHARN 20 10. 7%




5. YTixE LA 5 2. 7%
6. LY TIEELAL 4 2. 1%
o 186 100. 0%
[4-3] AR X
[E] ] A ZEE &l A
1. JEFICYCTIEE S 6 3. 2%
2. Y¥TizE 3 54 29. 0%
3. YT S 8 4 45, 2%
4. HELYHTEFELRWL 32 17. 2%
5. YTiEE LA 5 2. 7%
6. &{YTIEELAL 5 2. 7%
% & 186 100. 0%




